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TABJHEHA CAOSREmIA.

14+1=2
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3+1=4
1 L1=5
a+1= 6
6+1= 7
7+1=8
8+1=9
94+1=10
1+2=3
242= 4
3+2=15
44+2= 6
Bl2—="1
6+2= 8
74+2=09
8 +2=10
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14+3= 4
2+3=75
3+3=6
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6+3=9
74+3=10.
8+3=11
9+3=12
1+4=15
24+4=6
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444=8
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6+4=10
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8+4=12
94+4=13
1+5=6
24+ 5= 4
3+5=8
445=9
94+5=10
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B8+5=138
945=14

1+6=17
246= 8
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5+6=11
64+6=12
74+6=13
8+6=14
94+6=15
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24+7=09
3 +7=10
41+7=11
5+7=13
74+7=14
84+7=15
94+7=16
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1+8=91]
24+8=10
3+8=11
44+8=12
5+8=13
64+8=14
74+8=15
8+4+8=16
94+8=17

14+9=10
2+9=11
3+9=12
4+9=13
54+9=14
6+9=15
7+9=16
84+9=17
94+9=18




